[1] Form sets:




3] Circle the correct number:

i“ii
JENES

/

e

6

SIEE

e




[6] Arrange in an ascending order:
5,7,2,0,6

The orderis: ... y e g e g . .

[7] Arrange in a descending order, then complete: \Q})
7,9,3,5,2 @

The orderis: ... y g . g g . @

[8] Write the ordinal number:

Y7 & G S
Al ] ‘V' L~
& )

First ... Third ...

[9] Complete:

()



[10] Complete with (>, <or=):

8.8 4.8
9.0 6.6

(6.8
5. Q@

[11] Complete with the suitable number:

~

...>0 . <9
...>3 . <6

/

S —
>

[12] Subtract:




70N (2]

Form sets:

2o HOG
;f

Put (>), (<) or (=):

(1) How many person ide the taxi? ...
(2) How many perso side the taxi? ...
Complete:
T 2,3, BN, A

4,7,3,9,5

Real life problem:
caught 7 fish and Ramy caught 2 fish. How many fish they

caught together?

The number of fish = ... + = ... Fish



Form sets:

Look and complete:

W

Arrange in a descending order:

\>v 4,7,3,9,5

The order: ./, ..., ... R R

Real IifeAprobIem:
\I@\{d 8 apples in a bag and 2 apples fell down. How many

es are still in her bag?

he number of apples = ... - = ... apples

(6)



Form sets:

Put (>) , (<) or (=): @:

[6—1 ...... four ]

[5+1 ...... three ]

(1) How many birds is on the r@? .........

(2) How many birds is u tree? .........
o\

N
(1) The first childis .\ ... \/

(2) The order ofAlivis /...
(3) How dren behind Ali? ...

(4) Ho hildren in front of Ramy? ... .

Complete:

Arrange in an ascending order:

{\@1\%&: ______ e

Real life problem:
\%atima had 8 pounds. She bought a doll for 3 pounds. How many
pounds remained with her?

The remaining pounds = ...... - = pounds



Form sets:

fﬁ

(1) The catis

(2) Themouseis ... the (on — under)
(3) Thevaseis ... th (on — under)
/\

Complete with (>, <or=):

s os) [71.5] (e 6

Complete with the swtable number:

Arrange ina descendlng order
8,4,6,9,2

{Krr: ...... R N - R
\

‘Real life problem:
Wra has had 8 toys. She lost 2 toys. How many toys does she

have now?

The remaining toys = ... — ... = . toys



[1 erte the number:

ﬁgﬁ;ﬁ;ﬁ;ﬁ;
RBRRL

..................... Q\X
[2] Circle thg\c@?/%} number:
1 23288

g Liins

6 7 8 8 9 10 8 9 10




Four ... Two Three ...

(10)



[6] Complete using (>, <or=):

9.7 4.0 '5....10
1 10...10 | 0....10 | 5.4
/OA

\ >9 \ <9 | @ <7

e e | [ e
[8] Circle the smallest number: @

9 5 6 10 @® 9 7 6 5

11 5 6 %@ 2 9 7 10
[9] Circle thiﬁé@s}t number:

9 5 6 10 9 7 6 5

.
15 6 0 2 9 7 10

(11)




[10] Arrange in an ascending order:

5,3,7,10and 4 |The order is:| ...... , weee , oo , ... and ......

0,9,5, 3and 10 |The order is: | ..... , e ) e ) e ané\g

N
4,10, 2, 1 and O | The order is:| .o oo s oo ) ...@.d ......

[11] Arrange in a descending order:

0, 6, 7, 10 and 4 | The order is: Q\\> eee y e and .

2,9, 8, 3 and 10 | The order |s§§> ) ey e, e and

(O]
7,1,4, 10 and 2 Thi/m/-@ iSt| e ) ey eeee o and

>
@

(12)



10= 3+ 7 10= 4 + 10=5 + 5
=
10= 6+ 4 10= 7 + 10= 8 + 2
10= 9 + 1 10= 10 + O @

(o

[1] Complete: N
0 + = 10 1 + = 10 + = 10
2 + = 10 + 0 § + 4 = 10
3 + = 10 += 10 + = 10
+ 2 = 10 = 10 + = 10
+ 3 = 1 @ + = 10 + = 10

0
+ 6 8 + = 10 + = 10
2] Join to have a sum of 10:

® ® ® © ®
@ 99 ® @ ® ©

(13)




[3] Circle the two numbers whose sum is 10:

\2 5 8 3 | \9 5 6 b5 |
3 2 & 1 7 & 3 '

) . ) = .
1 5 6 9 | \2 Q(\ 10 |

[4] Complete:
7+3=3+..... 4 +6=...+9
4 N\ Q/’ N\
9+1=7+.... 5+5=...+10
3+7=6+.... 2+8=...+1
\8+2=5+¢V\< \8+;:mw+8 |

-

5] Complete:

[]f p @ N\ 4 N\
3+ =1 vees 2+7+1=....
y¢2+/:mw 6+1+...=10

§ . . ) .

\§%y2+2:wm 5+1+....=10

3+4+3=..... 5+5+...=10




[6] Join

Yy 1

b &b &b 2

% 3
YYYYyYyY 4
™ W %R <§g
P te 'i'“@@ 6
@%%ﬁ\\g\é@ 7
£ 224224414244 8
&ctcccc o
IR 10

(15)

Nine

Ten

Eight




LSS [F) WHAE TENS

¢ 4¢P
¢

¢ ¢

40 - Forty

¢ ¢ D>
L e 2
¢ ¢>d> ¢ ¢
¢ »
¢ ¢ P ¢ ¢>P>
>
M > > ¢ ¢
Q%ﬂw M*ﬂ%
PPN PPN
%..w. ¢
¢ <P
¢ =
¢ ¢
¢ ¢dD
¢ »
¢ ¢HD
¢ ¢dD
¢ »
¢ ¢HD

-Joventy

80 - Elghty

LI A 4
¢ <P

¢ ¢
¢ ¢

¢ ¢
¢ <D

C ¢
“«
“«¢»P

¢ ¢
¢ ¢

LR A
¢
¢ ¢

¢
Ll o 4

¢ ¢

Cern

o

90 - Ninety

(16)



[1] Count, Say and write:

> S
4 € > > —
< > >S5S
AT ‘Av'v'~ ‘. ‘.vvv'
O‘A 5 < >
— - ¢ ¢« >
¢ S =) ;
- ¢>> — s
: « » >SS =
Hﬁy : OA_. €« > a.A‘A. .v.v# A.a < .Vlvzv
>/ . ;
—t A.M, YQ : =< — < € < €¢> P
DS € €>P . I L o) g ¢
< > m%\ < > o o & O
“« €« > > : <« > ¢« > “ «>>
¢ cerr ] < PR
- anch < » — “ &> > < € P>
vnvo OA. <> £ .WVVAU w ‘A —_— w AT s 2
‘¢ &> — < < —h
<« » =< — s >SS - >SS
“ «> > ¢ > S “ «>» “ e
2e¢ - A.A.A .v.v.. v ‘.A‘A. .v.v* A.A.A. .v,vb
PSS PAIPRFRN L [ =P Q¢
< «>> (=2 “ ¢« > e — - —
¢ > - —h < > | S 8 S
¢ ¢« . £ nU._.A..v'v U‘V..‘vb “«>>
T < > || > < >
2¢ <« s =€ ] < <> > ¢ ¢« >
Pl TURB | Re oS¢
—— < ¢ :
=3 P E (N\[ >
nUA_. <> > QA. .v.w A.aé .v.v.v
=&  «>F “ ¢« >|
e I ee -
- ¢ P P ¥
i‘vvnu < ¢ > e ¢ > >
s Ses’s e « s
- <+ »
= 4+ €« > e ¢
“ ¢«>d S ¢- - > = = 4
wandh ‘A " ) %) o SO %
S Y ot [N vV.vnu DR R < A‘Wv\
B— < ¢
éa.é.v.v.v =& < » <« ¢ > : < >
<+ ¢> > B 2 <+ <> e P e
=2 B DR R =2 J S
<« ¢> D S 4] “
2¢ ATA.A.,V.V.V “ ¢« >
< &> > (=2 I
=2

(17)




[2] Complete

&

. %

[4] Match:

Thirty

Fifty

Seventy

Ninety @

0

Sixty

Twenty

Forty

Eighty

[5] Con&pleté&

7 + 2 = UL UL

(18)

70 + 20 =

ve0ee

Ve

30 + 40 =

-

909009

Ve

60 + 20 =

-

veoee




[6] Complete:

\3 tens = 30 ) \4 tens = ...... J
... tens = 50 | ... tens = 70 @
\6 tens = ....... ) \9 tens = /&\@ )

i | A
0+ 50 ﬁ@x@o«: o

30 +30=..... E 304 50 = .....
) QO

20 + 20 = ..... @ 50 + 30 = .....

[8] Subtract:

>/
40-30= ... {{@ 40-20=...

5@ 30 = s 150-80=...

9@-@@%U ) 8@1@3 )

[9] Arr nge a descending order:

40,70, 30,90 and 50
der ........................ 3 e, 3 e, and ...

[@%rrange in an ascending order:

80,50, 30,60 and 10
The order: ... 3 e, 3 e, 3 e, and ...

(19)



The numbers

10 20 30 40 50
Ten Twenty Thirty Forty Fifty
s
)
QN
N
>
N
20
60 70 .80/ 90 0
Sixty Seventy (ﬁ\ Qiibhty Ninety Zero
T
(7
U

(20)




LESSTN [F) TENS AND LNTS

O @ ® ® © & @ ® O

One Two Three Four Five Six Seven Eight Nine

Ten Twenty Thirty Forty Fifty Sixty Seventy Eighty

1] Read and write the following numbers/'m\

25 | o 34 | .. «\@) ......................

83 | e 46 x ......................................
26 | e g‘\@ ................................................
NN

A5 | o 6 B2 | e

57 | oo (&X 85 |
L\
62 | /&X ........... 71 | oo
%!
74 A\@ .................. L+ T J

81 | 24 | o

&N ................................................ B6 | oo
05 | o B4 | o

% 7 I B y < T B
(21)




2] Read and write the following numbers in digits:

Sixty three

Twenty four

Seventy one

Fifty four@@

............. Forty six Eighty se@%
............. Ninety two ne
\ O /
............. Sixty five &é\\énty three
............. Eighty five %\ ¥orty seven
ST
............. Fifty nine % . Twenty eight
Q\

............. Seventy oneﬁ\/ Thirty six
............. Twent f'(\ Forty nine
............. Wt/jétw\; Ninety three

Eggb\t?y four

Seventy six

A< <@Thirty three | | ... Forty four
\\§ Fifty five | | Seventy seven
............. Sixty six Eighty eight

(22)




[3] Complete the table and read the numbers:

0 | 1 2 7 9
10 13 16 L
21 25 28 |
30 32 37 | | 39
41 43 46
50 54 /58
62 65 69
71 74 T
82 85| 88
90 93 | 96 99
[4] Complete as in th@@mple:
o 35=30+5 @ . ...=60+5
& =30+ 2
. C%ii:;> & =20+7
& =30+1
& =80+4
= 66=... +
& 53=_ . +
=49 = .. +
e52= .. +

(23)



[5] Match:

Thirty five 35
24 Twenty four

Ninety four 46 @
58 Fifty eight @
Eighty one 94 %

81 Forty six’
N

Fifty one 63

72 \Mnty two

Sixty three 51 &
O,

[6] Complete as in the examg%%\/

\9 tens + 3 units = 90 @98

( / \
8 tens + 2 units {@ ...... o=

@ tens + yﬁ&s} ................. + o = |

7 tenﬂ\a@&%mts = o = )
QAtgr%s + 3 units= ... + o = )
<j\%&ens + 06 units= ... + o = )
§ N\
5 tens+ 9 units= ... + = )

(24)



[7] Circle the correct answer:

:9tens +3units= ... . (39,93, 30,90)
:8 tens + 4 units = ... (48,40, 80, 84)
@ tens + 2 units = ... (62,26, 20, @Qg/\
\
(2tens+6units= ................. (62,26,2@@@ |
7 tens + 8 units = ... (70, 8@%»7/8)
5 tens + 6 units = ... (5@%@\5& 60, 50)
7
:Stens+3units= ............ _— 3, 83, 30, 80)
)
4 tens + 6 units = &%4@ , 60, 64, 46)
:6tens+5)urﬁf§% ............... (50, 60,65, 56)
5 tens {3\%}? = e (50, 35,50, 53)
( 6 tens\8>un|ts = e (60,30,36,63)
\5?\%2 + 9 units = ... (50,59,95, 90)
@ tens + 3 units = ... (36,63, 30, 60)
:2 tens + Qunits = ... (29,92, 20, 90)




The numbers

11 12 13 14 15
Eleven Twelve Thirteen | Fourteen Fifteen
U
v
L2
<
—
L
N
AN
16 17 18 19 20
Sixteen |Seventeen Q ighteen | Nineteen Twenty

\

(o>
=

CQ

(26)




[1.

[2

LESSIWN [5) THE FAALZE ILE

Circle the value of the underlined digits:
73 3 or 30 36 3 or 30
24 4 or 40 56 6 or 60@
98 9 or 90 64 6 &Q@
[N
80 8 or 80 93 r 30
27 2 or 20 @2\ 10r 10
e
45 4 or 40 Q/%i/ 10r10
Ring the correct num -@
[\
It has 9 in the tens place | 29 19 01
It has 8 in theh@s}olace 84 18 80
(7
It has&i@l{eﬁ%ns place 71 17 37
It has 5'in the units place | 15 52 59
A/
Ws 3 in the tens place 23 13 35
"It has 4 in the units place | 45 64 43
It has 2 in the tens place 12 42 27

(27)




It has 6 in the units place 36 62 67
It has 4 in the tens place 54 49 34
It has 7 in the units place 37 73 72 V§
[3] Write the place value of the underlined MQ
34 56 75 - 34
________________________________________________________________________ (=
12 26 68 94
................................................ @.}
N
31 74 @\/ 64 21
________________________________________ fo
- \
63 84 59 73
________________________ @>
[4] Write \umber:
& 7 tens and’3 units = . < 8 tens and 8 units = ..
é%nd 2 units = .. + 6 tens and 9 units = ..
ns and 4 units = .. + 9 tens and 6 units = ...
tens and 5 units = .. < 4 tens and 1 units = .

& 9 tens and 3 units =

(28)

& 2 tens and 4 units =




@El ErEIEEEE S

[5] Circle the greater number:
13 16 18 12 8 1
N
%
9 12 18 7 1gwf§§f@
\
11 28 23 25 27 30
17 14 35 60 25 52
S
21 14 31 <@é£> 45 54
()
[6] Circle the smaller Wr:
48 51 ®@ 60 35 61
24 4§\f%§>> 61 49 30 20
91 \83 44 35 27 81
ik
\@; 14 35 60 25 52
21 14 31 49 45 54

(29)




[7] Write the numbers that come before and after:

7

—
—
—

ﬂ 34
WL VUL R L L W L L
i

[ 12
LR L N W L N L LWL WL
Iy
ZmC

AR A i _n_n_J

H

i WL
N T

Hi

i ez

L WO L W LW |G L L VLW N

1

10 Tes

L LT WL L N L LA L L

0 e

| E

NP LL VP L N LWL N L L L

1 g —

s

NP L W W L W LN WL L

1 —

10 I7s

N L A W L L N LWL L L)

] g

([ o3

I P U L NP L L L L )

H

0 Ta

L L L P L L L L L N

o

ﬂ 34

P L L N LR L N L L L L

E
&

(30)

¥ 56 |
L]
B —
(0 Tse] ||
LT
|
20l Teo] |
N L R T | N | W LV LV L S L N
L
EDF 64

L L L L L
s

DF 92
LWL O I W L L L
15
L/

45

LSO N L N L L

60

39




[8] Arrange in an ascending order:

95

7o

12

86

@ @)

62

r3

L

42

@ @)

39

26

15

96

©, @)

95

78

76

12

0L 0L 6L, 60

@ @)

N

[9] Arrange in a descendir}g@&:

95

I9

12

86

OO

62

F e

55

42

OO

39

26

15

96

N

OO

a

95

78

76

12

QD QD O;O O,D

OO

(1)



[10] Complete using (>, <or =):

\ 31 ... 24 IR 63 ... 21 ] 14 ... .. 67 )
o4 . 25 43 .19 64 ... 46
: . . )
3023 || 54...64& || 47 71"
\1/ ~N
\89 ...... 90 | | 24 . . 61 | | 31...18 |
Y]
98 ...21 | | 10...30 || 40 ... 39 |
Dtens ... forty g\é @ns ...... thirty
\§ J \f\)N J
N w 2\
80 ... 9 tens @ Forty one ...... 41
sixty ...... sixteen | @ eighteen ...... 60
: ALY :
5 units ...... Q\@\@ 3 tens ... thirty
[11] Write th est and the smallest numbers that could

be forpck each two digits of the following:

The d\lq\§> Greatest number | Smallest number

(32)




L9 ¥ =y =9
£LJ JQ
15 + 16
2 92
+ 46 + 32

+
- N
W
+
@) QAN
— “\J
@)
Soon
o~

87 10 62

(33)

+ 41 + 11
66 63
+ 21 +12




+ 34 + 11
30 10

+19 +49
48 11

+ 11 + 46

(34)

38




[2] Find the result:

78 66
- 34 - 56
98 57
- 53 - 16
79 94
- 18 - 73
58 ig
- 52 59

Q0 0O
-~J =~

—

N OO

(35)

o
A
“

o)y G




69 68 64 66 78
- 54 - 47 - 24 - 22 - 11
;@;
58 67 77 85 G
- 42 - 61 - 53 - 55 :“VS
75 98 87 @86 56
- 62 - 58 -86<§> - 81 - 43
55 s§®\ 84 89 95
- 24 ;g% - 33 - 17 - 95
[3] Comp he following table
e Price Discount Paid
@ L.E. 85 L.E. 10 LE. ...
L.E. 45 LE.5 LE. ...
B L.E. 32 L.E. 2 LE.. ...
g L.E. 99 L.E. 21 LE. ...

(36)




[4] Put (<, > or =):

23+25......58 36-20...15

26 +13 ... 39 79-36...460
N 4 (/ N

30+25.... 45 93-63....30

[5] Complete in the same sequence: @
17,27 ,37, ... ) e )

32,43,54, ... g s
21,31,41, ... g JRRN

[6] Ahmed bought a book fc 23 pounds and coloring
pens for 12 pounds. How much did Ahmed pay?

[8] Hoda had 97 pounds, she bought a dress for 87
@s. How many pounds are left with Hoda?

eft money = . - = . pounds

WG (Y BE6T WHSHES

(37)



Half Third Quarter
/7 -
4 @ S G
: ¢
[1] Colour half of each of 1'he followmg shape@
[~

HUVDIonS

[2] Put (v') inside every shape dwugk\% two halves:

(A QO

%4

[3] Divide each figure iry\\@lves:
O=—=UO = A

shap
[4] Cross out t pes that are not divided into three

equal parts: |’
= D4 DA N /A B M crm

[5<K\ e()the shapes in each set that have equal parts:

DOOD
YAV /AN

(38)



LT (3) IESS5TW (i) STHIDS AND SHAFES

SOLIDS
N
O
IR N
Cube Cuboid prism @1”
Cone Cylinder Sphere @

[1] Join each solid to its name:

Cube §
Cuboid g
Cone @

hY
Mmemadaa
[}

E

3

Q.
1

(39)







[3] Circle the name of each solid:

@ Cone Prism Sphere
NS
%)
% Cone Pyramid @der
0
M Cuboid Prism Pyramid
O,
@K/
Cube 9 uboid Prism
{@
E @ Cylinder Cube
Qo
l“'“f
"N, 5 Sphere Cylinder Prism
"AYAI%
N
N
Q dtoc Cylinder Cube Cuboid

(41)



[4] Write the name of each solid:

SHAPES

ANKS

Rectangle Triangle / \\ Circle Square

[5] Join each shape to its name:

e O
Triangle @

A

- O

Rectangle

(42)




[6] Join each shape to its name:

/\ Triangle
Cylinder

Circle

. Cube

O Rectangle O
Pyramid

‘ Square @

(=

(Wil HEMYEBESTTRW i SHES;

(43)



[1] Write in digits:

Four ... Two ... Three ...
Five ... Seven ... E|ght .........
One ... Six

[2 5 & 3 } [9@@@}

[3] Complete:

] R AR
. =it —

oo ] [ovmrn
A0

[6 Wﬁéte:
tens = ...... [ tens = 50 1

(44)



[7] Add:

[2@4%3@% JJJJJ ] [4©+2©) JJJJJ

[8] Subtract:
40-30= . ] 10. 20=. @

[9] Arrange in a descending order:

40,70, 30,90 and 50 @
The order: ......... 3 e, 3 e, 3 e, and ....\.

] | BEEEEEEEEEERRY IECEEEEEEVERNEN L - PR

[10] Arrange in an ascending order:
80,50,30,60 '%
Theorder: ..., ...y iy &

[11] Read and write the foIIoW\%ﬁmbers in letters:
83 \Q/ 46
......................................... f/(\\

A

26 o3 - T

[12] Read and wri \tbk following numbers in digits:

............. /Q@ny%ee Twenty four

............. I S%}/enty onhe Fifty four
[13] b@\sﬂete
........... + 6 & ...=60+5
47 =40+ . . =582= . +

(45)



[14] Complete:

Ve

\8 tens + 2 units = ...

Vs

6 tens + Dunits= ...

+
1

[15] Circle the correct answer:

Ve

8 tens + &4 units = ...

(48, 40,80, ¢

Ve

6 tens

+2uUnits= ...

R
(62,26,20,60)

[16] Circle the value of the underlingwig}té:

73 3 or 30 36" 30r30

24 4 or 40 (§ 56 6 or 60
[17] Ring the correct n%{@

It has 9 in the tens place | 29 19 91

It has 8 y\tli%n\p\i{s place | 84 18 80

[18] Write{M\@ce value of the underlined digit:

34

_____ e

rite the number:

& 7 tens and 3 units = ...

& 5 tens and 2 units = ...

(46)

& 8 tens and 8 units = ...

& 6 tens and 9 units = ...



[20] Circle the greater number:

13 16 18 12 8 11
[21] Circle the smaller number: Q@
48 51 90 60 35
N

221 Arrange in an ascending order:
[22] g g NN

(Jl|95| 79|12 |86
() 3

Lo

23] Arrange in a descendin er:
23] Arrang 9 Qe

O||95|78| 76|12
O @
N

[24] Complete u ing (> , <or=):

93 .21 || 10..30 || 40 .39 |

; 80\&\5’@% } [For‘ryone ...... 41}

Vs

~

a
[2 ind the result:

25 53 78 86
+13 + 16 - 34 - 56

(47)



[2] Write the amw money:

(48)




[3] Circle the amount of money you need to buy each item:

75 pounds

21 pounds




Friday Saturday

2
Thursday D ay = Sunday @@
of the

weelk @
Wednesday i\ onday
A

[1] Complete: N
(1) The day comes direc Monday is ...,

(2) The day comes @ Ter Sunday is ..o
(3) The day come ly after Friday is ..o,
(4) The day\co

(B) Theo
(6) The day

ectly after Tuesday is .......ccoccomvverrrinrrienneee
es directly after Thursday is .......ccccovvrinernnn.e
comes directly before Monday is ..o,
@ay comes directly before Sunday is ..o,
he day comes directly before Friday is ..........ccccccoovvrrrnrirnnnee.
The day comes directly before Tuesday is ........ccccoosvemrrrriiennrnns
(10) The day comes directly before Thursday is .........ccccoveunecnncenns
(11) The day that is between Sunday and Tuesday is .......ccccoovmrnnnee.

(50)



[2] Complete the table:

Yesterday Today Tomorrow
Saturday
Monday
Tuesday
......................................................... Thursday %
O
......................................................... ®f> Saturday
Friday N/

(51)




Lengths

[1] Circle the longer:

1)
(2)
(3)
(4)

(52)



Statistics

(1) Count the shapes then answer the questions:

Complete the following table: o
O] A
Number ;i>

L\

Represent the previous T@mphically:
N

PG

5

O A O

(53)



(2) Shade according to the number of preferred subject:

English  Computer

Number

4
6
S
4

Preferred
subject

Math

Arabic

English

Computer

(3) Complete the following table:

Money

Name

Ali

Islam

Nada

Ho%

Islam Nada Hoda

Ali

(54)



(4) Shade according to the number of flowers:

6 - - - -
Colowr o | Number 5 — — %@
Red 5 4 — — — @Q
Yellow 4 3 — — ;® —
White 2 2 — — a —
Blue 6 1 — — | —
0

Name Money

Alaa | - 7
Nadia <\ }

4

3

Hany |\ . 9
1

0

7

2

7,

Ahmﬁci ......

7
0

7

Alaa Nadia Hany Ahmed

(55)



(6) Count the animals then answer the questions:

LSS L%

Complete the following table:

ohepe @ % i ; ﬁﬁ
Number <§§;>

Represent the previous t aphically:

&

&N

w » O O N

(56)



(7) Count the toys then answer the questions:

Number

\w,
Represent the previous tabl \eph/ically:

N

N WA OO N
@

(57)



(8) Count the shapes then answer the questions:

Complete the following table:

e [ [ A

Number <§§§f}

Represent the previous table g@%ﬁly:

1

N

= N W A Ol o0 N
@

N AT O

(58)



FIIINJAIL| [RIEIV]I]S]I]OIN
[1] Write in digits:

Four ... Two

Five ... Seven

One ... Six

Ten = e Zero

Thirty Forty

Sixty o Seventy

Ninety -~ Fifty

Eleven - Nineteen

Seventeen - Eighteen

Fifteen - Thirteen
m

[2] Circle the two number 10se sum is 10:

9 5 6 5 |

[4] Cog@pggte:
K\@ ns = ...... 1 [ tens = 60 1

[5] Add:

[4@ + 50 =..... } [1@ + 70 = ..... 1
(59)




[6] Subtract:

[7] Arrange in a descending order:
60,40,10, 80 and 30
The order: ... 3 e, 3 e, 3 e, and ... @
AN

[8] Arrange in an ascending order:

70,20,50, 80 and 30 @

The order: ......... 3 e, 3 e, 3 e, and ...\

[9] Read and write the following nurg&be?s@iﬂetters:

76 | e 2@®> ...............................................

35 | ot

(N
[10] Read and write the following numbers in digits:
BN

............. Sixty thre Twenty four
ree

............. Fifty four

(60)



[12] Complete:

Ve

8tens + 2 units = ... o =
6 tens + Dunits= ... + o =

[13] Circle the correct answer:

Ve

| 7 tens + 1 units =

(17,70,10,

Ve

4 tens + 2 units =

(D )
(42, 24,20,40)

Vs

2 units + 6 tens =

(@2?2\6 E@ , 60)

J/

D
[14] Circle the value of the und@ﬁfcﬁdigits:
63 3 or 30 @ 37 3 or 30
94 4 or 40 %@ 86 6 or 60
[15] Ring the corré&\f R\uﬁfber:
It has 5}@6@}@15 place 25 15 51
It hasw units place 74 17 70

[16] W/(i%te the place value of the underlined digit:

45

N

(61)




[17] Circle the greater number:

23 32 64 49 18 11
[18] Circle the smaller number: V@
16 51 81 60 37 63

N

N
19] Arrange in an ascending order:

()| e2|73 5542\
) &

[20] Arrange in a descending
A

O||93|78| 63|22
O O

o

[21] Complete using (>, < or =):

Ve

94 .23 )] 20 .30 || 30 .39
: 80 V% tens 1 [For"ry three ... 43}
0

[2 i he result:

22 52 98 o7
+ 46 + 32 - 53 - 16

(62)



[23] Complete in the same sequence:

17,27 ,37, ... o e

32,43 ,54,. ... N _ @
21,31,41, ... o N @2

[24] Story problems:
= Ahmed bought a book for pounds and

coloring pens for 12 po . How much did
Ahmed pay? @

= Hany had 65 p , he bought a present for 24
pounds. H&@ y pounds are left with Hany?

The | Y= oo s = pounds

« Hod 97 pounds, she bought a dress for 87

@ds. How many pounds are left with Hoda?

he left money = . . e = pounds

(63)



[25] Join each solid to its name:

Cube

Cuboid @

Cone \

Cylinder @ @
Pyramid @

Sphere @éf

P@@@ A
@o

(64)



[26] Join each shape to its nhame:

Triangle

D
Scqare @
©

Rectangle

[27] Shade according to the @mﬁ of preferred subject:
) — — —

Pref:rred Number @é — — — —
sub ject
Math A @ 4 — — - -
Arabic /\k 3 — - — -
English \3 2 — — - -
=l ] | H OH H P
0

Math Arabic English  Computer

(65)



[28] Count the shapes then answer the questions:

Complete the following table: ‘

Shape (::) Zfi& (ﬁiy\\
Number <§§§§;ﬁf

Represent the previous table g @cally:

A

AN

&

O A& O

(66)



[29] Complete the following table:

(On

N

@
A

.

7

N

Hoda

Nada

<t o AN — O

Money

Name

Ali

Islam

Nada

Hoda

| U

Alaa
Nadia
Hany

Nadia Hany Ahmed

Alaa

(67)



[31] Count the animals then answer the questions:

hekik 33 ‘i@%

W oS
RAER

Complete the following table:

e [l L ]S [ R

Number @

>/

Represent the previous t aphically:

@@

/ﬁ\whmo\l

(68)





